Subject: Re: Difficulty with N_ELEMENTS command
Posted by Yngvar Larsen on Sun, 12 Feb 2012 19:21:30 GMT

View Forum Message <> Reply to Message

On Feb 12, 8:14 pm, Yngvar Larsen <larsen.yng...@gmail.com> wrote:

> A one-liner soulution (mostly because it fun :) could be
>

> exceed_freq = total(precip_day gt

> transpose(smoothed[*lindgen(nyears)]), 2)
>

> or

>

> exceed_freq = total(transpose(precip_day) gt
> smoothed[*lindgen(nyears)], 1)

>

> -

> Yngvar

Ironically, Google Groups decided that my one-liners really should be
two-liners :)

Yngvar
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